

$$f(n) = r \left[\frac{r-n}{r} \right] + a \left[\frac{n+r}{r} \right] \quad n = -r \quad \left[\frac{a}{r} \right] = ? \quad (1)$$

$$n \rightarrow -r^+ \rightarrow r \left[\frac{\varepsilon}{r} \right] + a \left[\frac{0^+}{r} \right] = r \quad n \rightarrow -r^- \rightarrow r \left[\frac{\varepsilon^+}{r} \right] + a \left[\frac{0^-}{r} \right] = \varepsilon - a$$

$$\varepsilon - a = r \rightarrow a = r \quad \left[\frac{a}{r} \right] = \left[\frac{r}{r} \right] = 1 \quad (0)$$

$$\lim_{n \rightarrow \left(\frac{\pi}{2}\right)^-} [\sin n - 1] \quad \sin \frac{\pi}{2} = 1 \quad [1 - 1] = [0] = -1$$

$$\sin \frac{\pi}{2} < \frac{1}{2} \quad (1)$$

$$\lim_{n \rightarrow -\frac{1}{r}} [\lambda^{n^r} - n] \quad \lambda \times \frac{1}{\lambda} = -1 \quad -1 + \frac{1}{r} = -\frac{1}{r} \quad \left[-\frac{1}{r} \right] = -1$$

$$-1^+ - 1^- \text{ d.h. } 0 \quad (2)$$

$$\lim_{n \rightarrow \left(-\frac{1}{r}\right)^-} \frac{\log n - d + \left[\frac{r}{n^r} \right]}{\log n - \left[-\frac{r}{n^r} \right]} \quad \frac{-d - d + \left[\frac{r}{+\frac{1}{r}^+} \right]}{-\lambda^- - \left[-\frac{r}{\frac{1}{r}^+} \right]} = \frac{-d - d + [1r]}{-\lambda^- - [-\lambda^+]} = \frac{-1r + 11}{-\lambda^- + \lambda} = \frac{1}{-}$$

$$\frac{1}{-} = -\infty \quad (-\infty)$$

$$\lim_{n \rightarrow 1^+} \frac{\sin^r \pi n}{[n] + \cos \pi n} = \frac{\sin^r \pi}{1 + \cos \pi} = \frac{1 - \cos^r \pi}{1 + \cos \pi} = \frac{(1 - \cos \pi)(1 + \cos \pi)}{1 + \cos \pi}$$

$$1 - \cos \pi = 1 + 1 = 2 \quad (3)$$

$$\lim_{n \rightarrow -1} \frac{\sqrt{n+r} - \sqrt{n+r}}{1 + \sqrt{n}} \rightarrow \frac{\frac{r}{\sqrt{n+r}} - \frac{r}{\sqrt{n+r}}}{\frac{1}{2} + \frac{1}{2}} = \frac{0}{1} = 0$$

$$\lim_{n \rightarrow 1} \frac{r_n - \sqrt{\sqrt{n} + d}}{r_n - \sqrt{\sqrt{n} + 1}} \rightarrow \frac{r - \frac{\varepsilon a}{\sqrt{\sqrt{n} + 1}}}{r - \frac{2}{\sqrt{\sqrt{n} + 1}}} = \frac{r - \frac{2}{\sqrt{2}}}{r - \frac{2}{\sqrt{2}}} = \frac{0}{0} = \frac{0}{0}$$

$$\lim_{n \rightarrow 0} \frac{a + \sqrt{bn+c}}{n} = \frac{1}{\varepsilon} \quad \frac{ab}{c} = ?$$

$$\frac{a + \sqrt{c}}{0} = \frac{1}{\varepsilon} \rightarrow a + \sqrt{c} = 0 \rightarrow a = -\sqrt{c}$$

$$\frac{-1}{\varepsilon}$$

$$\frac{b}{\sqrt{bn+c}} = \frac{1}{\varepsilon} \rightarrow \sqrt{b} = \sqrt{c} \rightarrow b = \frac{\sqrt{c}}{\varepsilon} \quad \frac{ab}{c} = \frac{-\sqrt{c} \times \sqrt{c}}{\varepsilon c} = \frac{-1}{\varepsilon}$$

$$\lim_{n \rightarrow -\infty} \frac{\varepsilon + k \left[\frac{n}{\varepsilon} \right]}{\sin n} = +\infty \quad [-k] = ?$$

$$-\infty^+ \rightarrow \varepsilon + k \left[\frac{-\infty^+}{\varepsilon} \right] \Rightarrow \frac{\varepsilon - \infty k}{0^+} = +\infty \rightarrow \varepsilon - \infty k > 0$$

$$-\infty^- \rightarrow \varepsilon + k \left[\frac{-\infty^-}{\varepsilon} \right] = \frac{\varepsilon - \infty k}{0^-} = +\infty \rightarrow \varepsilon - \infty k < 0 \rightarrow \infty k > \varepsilon$$

$$-\varepsilon < -k < -\frac{\varepsilon}{c} \rightarrow [-k] = -\varepsilon$$

$$-\varepsilon$$

$$\lim_{x \rightarrow \infty} \frac{a\sqrt{x+b} - b}{a^2 - b} = \frac{a\sqrt{x+b} - b}{a^2 - b} \rightarrow a = b$$

$$\frac{a\sqrt{x+b} - b}{a^2 - b} \rightarrow \frac{a\sqrt{x} \frac{1}{\sqrt{x+b}}}{a} = \frac{a\sqrt{x} \frac{1}{\varepsilon}}{\varepsilon} = \frac{1}{\varepsilon}$$

$$= \frac{1}{\varepsilon}$$

$$\frac{1}{\varepsilon}$$

برای هر $\varepsilon > 0$

برای $x > N$